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Question 24

‘Send2You Delivery Fuel Costs and Consumption ‘Approximately how much will it costin US Dollars to
buy 50 gallons of uel during March and Aprilin 2
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Question 16

SKG Leisure Revenue Compari Ifthe revenue for Car Rental in Year 1was half that
for Hotels in Year 2 when Holiday Letings
‘accounted for 5.04m Euros, what was the revenue
from Hotels in Year 12

KD osim
D) 1.05m
KD 1.26m
KD 2.10m
KD 252m

20% [ o

Moter  Ocar  Drores Wrrave W

Rewnve  Rental Lats

@ ==

© SHL Group Ltd 2007

@ Intemet | Protected Mode: On G v m0% -

Practice Te. ‘maths parc.




[image: image5.png]& Numerica Srening Onine (tandard) - ntemet Eploerprovided by Del__ 4 -

2 question for help

] hitp://www.ort shisolutions.com/ player/InstrumentPlayer.aspiCandidate_ID=38387618Gui

o

Types of Fuel

Varstactring

Bty
Wi

Taprts

g

© SHL Group Ltd 2007

Test Progress

Question 17

Ifthe rate of change in fossilfuel consumption by
Manufacturing from Year 2to Year 3 continues,
‘approximately how much fossil fuel will be:
‘consumed by Manufacturing in Country X in Year 87
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Question 18

In'Year 4, ifthe proportions of alltypes of fus
‘consumption in Country Y remain identical to Year 3,
‘and Electrcity, Gas & Water consumption increases
by 7 million tonnes, what would be the fossil fuel
‘consumption for Domestic?
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Question 19

InYear7,if2.1% of Company 1's profits and 4.9% of
‘Company 2 profts were reducedto cover
employees’ bonuses, approximately what were the
costs incurred by both companies that year fheir
combined revenue was £700,0002
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Question 20

Shipping Company Profits InYear 9, ifthe costs of operating Company 1 is two-
hirds that of Company 2, and Company 1 generates
£500,000 of revenue, approximately how much

o revenus was generated by Company 2 that year?
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Question 21
‘Excess International will be closing down their least
profitable site. Which site is this?
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Question 22

fOperating Costs increase lobally by 10% next
vear but Payroll Costs and Sales Revenue remain
the same, which site would have the best revenue to
costs ratio next year?
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Question 24

‘Approximately how much will it costin US Dollars to
buy 50 gallons of uel during March and Aprilin 2
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Question 25

The company incurs £45 for every minute thata bus
s later than 5 minutes and f tis later than 8
minutes, the company pays an additional £20 fee.
"How much did the delay costthe company over the
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Question 26

Two new buses, D and E, are introduced. fBus Dis
7% more punctual and Bus Eis 7% ater on average
than Bus C, which of the five buses Is least delayed
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IfLondon experiences the same rate of change in
Rentalstockvalue as New York did from Period 110
Period 2, what will i approximate value of London
Rental stock be nextyear in US dollars?
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11550,000 cars are produced this year and Cars
Us plans to increase its production of Mini-Vans by
0.5% each year, approimately how many Min-Vans
will be produced 5 years from now?
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Question 31
Percentage of Defective Components in Factories Which factory produced the largest number of

) defective components in Year 12
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Question 32

Ifthe trends in the proportion of defectives and units
produced per year for Factory A continue, how many
defects would be expected from Factory Ain Year 57
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Allocation of Sales Revenue In Year 3the diference between profitand salaries
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. Question 34
Allocation of Sales Revenue In Year 3the diference between profitand salaries

was £50,000, how much was spent on expenses.
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Which region has the second smallest combined
Food and Living Space footprint?
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Question 36
Global Ecological Footprint

has the second largest effect on the total global
Region - ecological footprint?
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Question 37

By approximately how much can the population of
‘South and Gentral America increase before ifs Living
Region " ‘Space footprint will be equal to Afica's?

Global Ecological Footprint

P ©y =%
o ) s

Southsna K 1%

Nate: 1,000,000m7=1k ) 16%

) 21%

@ ==

Done @ intemet Protected Mod: On a- & 4

© SHL Group Ltd 2007

“won

TH LT Micr maths parc




[image: image26.png]6 Numerical Screeing Online Standard) - nemet plreprovisedby Dl L 0 0 & .

] hitp://www.ort shisolutions.com/ player/InstrumentPlayer.aspiCandidate_ID=38387618Gui

Type a question for help

681F-4)

7 Test Progress

Question 38

o
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Note: 1 tonne = 1000kg
“Refers o average CO, emission for a vehicle with average occupancy.
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Question 39

11CO2 emissions were taxed at $100 a tonne,
‘approximately how much tax would 2 lone Car driver
save every month, ased on average emission
figures, ifhe switchedto Motorcycling (alone) 15kms
towork and back, 22 days a month?
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